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Answer Key:
1.)  C
2.)  C
3.)  A
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Which set of ordered pairs are solutions to the function y = 4z + 97
A {(10,23),(2,15),(—4,9),(5,18)}
B  {(10,40),(2,8),(-4,-16),(5,20)}
C  {(10,49),(2,17),(—4,-7),(5,29)}
D

{(10,419), (2,51), (-4, —35), (5,54)}
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The graph shows the function h(x) = 2|x - 1|. What is the minimum value of the function?
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The table shows the number of items Sally bought each time she visited the mall and the money she
spent.
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The calculator screen shows the linear regression for the data in the table.

LinReg
y=ax+b

a = 13.55882353
b = 1758823529

2 = 9909817911
r = 9954806834

What type of correlation does the correlation coefficient indicate, and why?

A a strong positive correlation since 2=1
B a weak positive correlation since a and b > 10, but 2 <1
C a strong positive correlation since r = 1

a strong positive correlation since a > 10




